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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/mM%E#8Z % — - ~ — — |3mEBZB| 000 ~ 010 518 16.07 | 100kN/m##BZ% — - ~ — — |3mZE#BZB| 6.00 ~ 620 318 16.07
st 1.00 | 000 ~ 106 14.55 | FnLSY | 0.10 ~ 1.06 | 3.00 15.16 ThLst 1.00 | 5.00 ~ 6.20 14.55 | =hst | 6.00 ~ 5.00| 3.00 15.16
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 5.35 66.68 | Thst | 0oo ~ o000 | 1.72 872 FnLsn 1.00 | 5.00 ~ 5.80 66.68 | EnLS | 65,00 ~ 580 1.72 872
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 0.00 ~ 6.54 8240 | =nS | 000 ~ 0.00| 1.78 8.99 ThList 1.00 | 5.00 ~ 7.80 82.40 | =hH | 5.00 ~ 7.80| 1.78 8.99
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 6.49 81.78 | =St | 000 ~ 649 | 1.88 9.560 ThLst 1.00 | 5.00 ~ 800 81.78 | #hH | 5.00 ~ 800 1.88 9.50
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 000 ~ 5.89 73.74 | FhLS | 000 ~ 000 1.65 8.54 ThList 1.00 | 5.00 ~ 6.80 73.74 | ThLS | 6,00 ~ 680\ 1.65 8.34
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 000 ~ 293 37.81 | =nst | 000 ~ 293 2.54 11.85 FnLsn 1.00 | 5.00 ~ 5.00 37.81 | #hLS | 5,00 ~ 5.00| 2.54 11.85
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
ThLlst 1.00 | 000 ~ 690 87.36 | =hs | 000 ~ 690\ 2.57 13.01 TnList 1.00 | 5.00 ~ 10.60 87.36 | #hst | 5,00 ~ 1060 2.67 13.01
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThLlst 1.00 | 000 ~ 690 87.38 | #hdst | 000 ~ 690 | 2.09 10.64 TnList 1.00 | 5.00 ~ 10.60 87.38 | #hst | 5,00 ~ 1060 2.09 10.54
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
st 1.00 | 0.00 ~ 6.52 82.18 | =hdst | 0oo ~ 652|211 10.68 FhLst 1.00 | 6.00 ~ 10.00 82.18 | =4t | 5,00 ~ 1000)| 2.11 10.68
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
ThLlst — -~ = —| #nLst -~ = — — Zzhust — - ~ — — | Zhst - ~ — — —
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




